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Abstract

The purpose of this short paper is a matrix comparison by definition of the most recent

previous short paper

General comments
From “Reconstruction Proofs by Definition” of my No.67, | define all numbers as 5 numbers.

@Iog(—%): loge=1

@logl=0

®log0= Iog[i%j = Iog(e’l): log(-e)= Iog(%) =1
®@log(-1)=iz=-2

Dlog(-2)= Iog(—%j =loge=1
20=20=2>0=>0=20=20=20=>0=--

-2

In(0) = In(%) - In(%) —Ine?)=-1

In() =In(-e?) =In(-1) +2=ir+2=-2+2=0
In(2)=In(-e)=In(-)+1=iz+1=-2+1=-1
In(3) =In(-2) =In(e) =1

In(4)=In(-) =iz=-2

In(5) =In(0) =-1

In(6) =In(1) =0

In(7)=In(2)=-1

In(8) =In(3) =1

In(9) =In(4) =-2
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| eigenpolynomial |
A% -0.1692541" —0.05455457°

eigenvalue

14 = (103 365606275727434913 541 +

A -0.5595311" —0.03316591°

—0.3304464° —0.216062* +0.353553%°

v 92073 664384311926 058 320390392514 005 807502673 881 )/

1221429068369631 142233944

Ay = [103 365606275727434913 541

.f\ 1
A3
1’1 5

Ei.'
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—0.150528 + 0.858943 {
0.786528 + 0.184222
-0.712469

Ag = =0.150528 - 0.858943 {
A4 = 0.786528 - 0.184222§

A=2=2=0

v 92073 664384311 926058 320390392514 095 807502673881 )/
1221429068369631 142233944

B===2=22=22=0

eigenvector

V= [l—‘W‘S 254373 196080 734 760 859 +

v 92073 664384311 926058 320 390 392514095 B07 502673 881 ),.'"

684137 119396352193912600, 1,0,0,0,0,0, n]

Vg = [{-4952543}3 196080 734 760 859 —

v 02073664 384311 926058 320 200302 514005 B07 502673 881 ) /

684137 119396352193913 600, 1,0, 0,0, 0, 0, D]

Yy =

[61’352692{}92453826]9?97]36

1039211534874 230 264472805
7274 480744119 613031 835699

1039211534874 230264472805
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655334025 543 HBH 448 564 678

4T [131066305106?3?252539213'
786400 830652423 727656550
" 131066 805108737 252539213
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[5?01 132961 645 378 565 962908

v = .
. 1425283240411 344037518113
7126 416202056 722948 50822

- 944 g.u.u.n.l.u.n]
1425 283240411 344037518113
[4285?2“590?04393523946652
Vg = ,
#7 [ 1428573563568 207 185600 759

5714 204 254 273 100990 568030
1428 573563 568 207 185 600759

0,0,1,0,0, u]

2620243859835 970227554 164
Vr = [1310 121929017982 854625503
3930 365 780 753 054 441 937 261
" 1310121929917983854625503"

0.1,0,0,0, o]

[]2443]5466??89212]59263]6
g =

1244315466 778 920892072583
2488 630033557 842155035718

" 1244 315466778920892972583

memmﬂ

Vi = (-0.388155 - 0.489906 i, 0.0809548 + 0.946574 i,
=0.0489623 - 0.158437 i, 0.29621 - 0.590014 4, 1, 0, 0, 0)

Vg = (—0.388155 + 0.489906 i, 0.0809548 — 0.946574 i,
—0.0489623 + 0.158437 4, 0.29621 + 0.590014 4,1, 0, 0, 0)

V3 = (0.702739 + 1.81025 i, - 1.20273 + 1.93553 4,
~0.177366 + 1.16504 4, — 1.61145 + 0.974721 4, 1,0, 0, 0)

Vg = (0.702739 - 1.81025{, — 1.20273 - 1.93553 4,
~0.177366 — 1.16594 4, - 1.61145 — 0.974721 4, 1,0, 0, 0)

vs = (7.32419, 3.61052, - 20.6752, 2.57662, 1, 0, 0, 0)
Ve =10,0,-1,0,0,0,0,1)
v7=10,-1,0,0,0,0,1,0)

vg=1(-1,0,0,0,0,1,0,0)



123456 7 8 -1 -2 2 1 -2 -1-2 2
345678 9 10 2 1 -2 -1-2 2 1 -2
0123456 7 -2 -1 -2 2 1 -2 -1 -2
234567 8 9 =2 2 1 =2 =1 =2 2 1
Ortho onalizel Orthogonalize
g 4567891011 9 1 -2 -1-2 2 1 -2 -1
123456 7 8 -1 -2 2 1 -2 -1-2 2
345678 9 10 2 1 -2 -1 -2 2 1 -2
0123456 7 -2 -1-22 1 -2 -1 -2
outcome
0.070014 0.140028 0.210042 0.280056 0.35007 0.420084 0.490098 0.560112 -0.208514 -0.417029 0417029 0.208514 -—0.417020 -0.208514 -0.417029 0.417029
0.641689 0.504184 0.366679 0.229175 0.0916698 -0.0458349 —0.18334 - 0.320844 0362659 -0.032969 -0.219793 -0.109897 -0.791257 0362659 -0.032969 -0.219793
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dimension 8 8
|extra-dimension | 0 0
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|eigenpo|ynomia| |
A8 —-0.5741981" —0.05455451° A2 -0.943551" —0.0767921° —0.3421974° —0.600293%* +0.353553%°
eigenvalue
1= [1?243044055 154440916 003 + Ay = 0.90373 Ay = —0.880596
V/494395351312504405 267 511492620141 096 054056 169 | / A3 = —0.10325 + 0.757465¢ A4 = —0.10325 - 0.757465
60076972477 483579 442708 A5 = =0.760185 B==1=0

A= [17248044055 154440916 003 -

v 494395 351 312504405 267 511 492 620 141 096 054 056 169 ]/
60076972477 483579 442 708
RB==2=r=2=2=0
eigenvector
vy = ([~65209073 258542424058 015 +

) vy = (=0.159157, - 0.843474, - 0.00653499, -0.522842, 1, 0,0, 0)
5v 494395351 312504 405267 511492620 141 096 054056 169 ),."

Va = (0.669272, 0.846187, 0.379009, 0.777168, 1, 0, 0, 0)
192753 646316400418273 856, 1,0,0,0,0,0,0

_ V3 = (-21551 + 2,021374, 1.66501 + 1.472051,
v2 = ([~65209073 258542424058 015 ~1.52554 - 1.13985 /, -0.0498242 — 1.584521, 1, 0,0, 0)

51494305351 312504 405267 511492620 141096 054056 169 | /

Vg = (-2.1551 - 2.02137{, 1.66501 - 1.47205,
192753646316400418273856,1,0,0,0,0,0,0 —1.52554 + 1.13985¢, —0.0498242 + 1.584524, 1, 0,0, 0)
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4 =

Vg =1(-1,0,0,00,1,0,0)
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1224053 168 323 024984 756030
-

206013292 080756 183781451
1530 066460403 781 043 722368

" 306013 292080756 183781451
966591 034 601 260 BSE 222 685
e = [322 197011 533 753 605830691
1268 788046 135 014 458 688070
" 322197011533 753605830691

,0,0,0, 1.0.0]

0,0,1,0,0, U]

702655413 098 298 020315 560
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0,1,0,0,0, U]
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'y =
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